(" )6-08 DODGE RAM 1500 2240P
06-08 DODGE RAM 1500 W/RECEIVER 2240PR

8- 1/2X 2" BOLTS LIC. PLATE

8- 12" NUTS 2-1/4” X 3/4” BOLTS

8- 1/2" LOCK WASHER 2-1/4" NUTS

8- 1/2" FLAT WASHER 2-1/4" LOCK WASHERS
2- 1/4” FLAT WASHERS

STEP 1 REMOVE FACTORY BUMPER
STEP 2 PLACE FRONT-END REPLACEMENT ON THE FLAT FRMAE BRACKET AS SHOWN
STEP 3 CHECK ALIGNMENT ON THE REPLACEMENT BUMPER AND TIGHTEN BOLTS

STEP 4 REMOVE FACTORY LIGHTS AND PLACE THEM ON THE LIGHT HOLES WITH THE SAME FACTORY BOLTS
NOTE: YOU MAY NEED TO PERIODICALLY RE-TIGHTEN BOLTS

: ¥ s s e G . bt ! =i T T _ il ot e e G
2 1"-" A P R - L G e TR - oy :

WWW.C

attlemanhd.com



